EARAZROREIERT — 2 N—XBISY —F 2015568126 (£) 3@IIB5H

m%?ﬁ?m#ﬁﬂ C2= H5%—# B R
[A&4£] 1% :1,700,000 2 3 :510,000 @ 33 :340,000 § ~ 4 3#&:204,000 @ 5 7 :136,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o s e a = +2 &R 1:38.4 11-11-7-2 | 40. — 4 PnEES— (J11)
1107111 TJYV=X KT -5 ;E.JO (3_8) 0.6 s (_?; e RE
L:ARTARTRIL B:TS5UTL Ry —L EH T
3 S f 7 | RAER 1:38.5 9-10-4-1 |41.1| — 6 472 | NAIRE (GAEFD)
217 |12| SREREXT S 54.0 (a8 o |8 ATE-L—s omEe
R:EALINT Ry IR BiFayIfr—> BEXZY K
- N FREER :39. -3-5- . — AEBEE (115
3 NEE V4= o4 zh 1(339)2 3-3-5-4 | 42.2 1 (51025) pEBs
Z:Curlin B: 71y bI14 M2 J—=YTr—L
. 8 KHEZ :39. ~5-6- . - SBARTEX (J18)
4 2 J 7 4 T7HA—X 4 5 54.05 1(73?:)2 5-5-6-6 42.0 2 ‘22;3 G
R:FA>T7747 B:XEE HET7— L
“ A t 6 | BIBXB 1:39.5 7-6-7-9 |42.0| — 7 436 | ®AE— (&)
5l1]1|¥TvE—L 54.0 (1 172) o | (F)_J PN
x4 avf—5— B:JTI—KyIZKY o F8E

<H Sl 1:39. 13-13-11-7 | 41.8| — | 12 o | TREMET GAF)
EH3 TUFRAY R it | am (1319/28) 3-13 8 :) A

L:74>N=h>rh)— B:Ov4—XK-—% R4S

. hHEE :39. ~7-7- . - EiEE= (1)
71813l Xz b1 FIS i 5 s (179;?78) 6-7-7-7 | 42.2 9 (4236) L

L 2Fx v BiLILTr =IBFHE

L E " 4 5 | ATHER 1:40.1 10-9-10-12 | 42.3 | — 4 484 | WinEE (1)

8 10 ‘*\"—E/l:“— 'f v F 54.0 (' 1/2) @) | BB

RHYRG4TTR B TFTT—ISL—F =RIERYS

55 _ # 5 | |3 1:40.3 1-1-1-3 | 43.5| — 8 423 | REE— (A
] 4 i 54.0 (3/4) o |\ 75747

LA —FIWh7r B:HMN) -7 — hEE B

i 4 5 | BATHERL 1:40.4 12-12-13-13| 42.2 | — 13 | 457 |#&EWfR (&)
1) 6 AR 54.0 (3/4) (1) | R

R:xF21zG7—2 B~N—ERTF—L [ia=Ese]

> N 4 5 | AEHZ 1:40.5 4-4-2-5 | 43.5| — 5 538 | NAMRE (RN
11l5/8|¥a—"v b 56.0 (vE) @) | LEGVTF

gL FS LML BEAXIRTY— P

Sox it 4 | RN 1:40.8 8-8-12-10 | 43.0 | — 10 | 476 | REZ (1)
12|57 |Yash 54.0 (1 1/2) g) | ) 7¥RHN

R —NFZXH>TF— B:TI—1)— [ AS e ]

S EIVAL] 1:41.4 2-2-3-10 | 44. - 11 474 | Wige (AFn)

13/8[14| 77NV = o] a ® N Cr) |xBE

RZX R N=NN—= B:HI574X RS

L:T7TxxXa%AL BYYHI - $HE ER

0o, =P o 4 9 Ail%EE = = = = = = R (GAifn)
EHG XANTx 54.0 (R851) <) | @ bELooP

@ 11— —EBIRfL

12—+— |5,14,4,8,2,13,1,7,12,10,11,9,3

23—F+— |5,14,4,8,2,1,13,7,10,12,11,9,3

3a—+— |5,8,14,12,4,2,(1,11,13),10,3,7,9

43—4— | 12,11,5,4,8,2,(3,13),1,(7,14),10,9

[ F/N=5

BB 11 670 | | 74 K 11-12 810M3 | | # = -7 3,300/ | | =& | 4-11-12 2,400/

B R 11 150/ 4-11 330M | | # B 7-7 2,910 | | 3=E | 11-12-4 19,130M
12 240M 4-12 640M | | B = 11-12 2,230
4 120M BB 11-12 3,990M

ABICOVWTRDTEEERROODE. TR LIV,



